o HEHREEN IS0 2 (FAKBOHKIEYY BT

EEUWB esssunns onmusins
° 0 @ FH% (MBI : £R10 05

[FH&E 5]

QOB REED 1 2 0 AADIZE

120AMA%x2/3=80KFM (#iBhzE)
120A5H—-80/FH=40F (HC&iB%)

{8 = F e BB RIERH 2 4 0 FHOBA
. : 24 0FMx2/3=16 05
18%’%2%?@’*” SEE1007 (R

240FH—100/M=1407A (HC&IEH)

FE TS [#HBhEE : LFR4 0 0 5]
XHYREHIZL 0 0FAEEAL L, 18RKBOTF (AR
—AIC2Z100AMZME (&KXK4005M)
(5561

QBN REEHL 45 0FADBE (FEHIA)

450RFM%x2/3=300AM
=>FfR2 005 (#BhER)
450RFM—200AMH=2505F (HC&IBE%)

QB REEDH 6 0 0 AADIZE (FEH2A)

= - 600AMAx2/3=400RHM
TR T LIR30 07 (HEE

B xFHECTH-T 600FM—300AM=300F (EC&EH)
1875 R i ) QB RBEN T 2 0 FADEE (FEL3A) /\
HEEHWS

= 720/H8Mx2/3=480/AH
($nﬁ$,§0)4ﬁlaiﬁ.&) iJ:BEZI. 0 075 (ﬁﬂj]gﬁ)
7208H—400/5M=3207A (HC&IEH)

- =1 = 14 TELHTHEINIBAICRY,
135 :E E-&{I% + %r('ﬂ‘j' ﬁl&“ ll:l:ll EEWE L RHRHE OB 2b e THETE X7,

G
FETHE (FEH2A)

/\ REYEEA 90 05MA RufH : 2 5 5AOBE —
EEHE ‘III.\
900/A5M*x2/3=6007AH

o

=>FR3 005 (#BhER)
900/M—300AMH=600F (HC&IBE)

R EARH

25HFMAx2/3=16.61M (%)
XTFHRBIYIET

25F—16.65M=8.47 (HC&iBH)

WAt
BCo&afElast

-

6 5H

316.
608. 418M



	スライド 1

